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4 55 95 5 Bins_array |24 = {35:45:55}
5 51 0
6 40 = {L4;50

Calculates how often values occur within a range of values and then returns a vertical array of numbers having

7 46 one more element than Bins_array.
8 43 Data_array is an array of or reference to a set of values for which you want to count
9 45 frequencies (blanks and text are ignored).
10 49
1 35
12 Formula result = 1
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11 | 35 Returns the largest value in a set of values, Ignores logical values and text.

12' Numberl: numberl;number;... are 1 to 255 numbers, empty cells, logical values, or
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7 48 K | 0.25
g 48 0.25 | = 0.
9 49 = 42.25
10 51 Returns the k-th percentile of values in a range, where k is in the range 0.1, exclusive.
11 55 K is the percentile value that is between 0 through 1, inclusive,
12
13
14 Formula result = 42.25
15
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11 | 25 Returns a normalized value from a distribution characterized by a mean and standard deviation.
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16 Formula result = -1.973598466
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14‘ sample of a population.
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x v k& =BINOM.DIST(5;8;0.25;0)

3 c D E F G H J

[=BINOM.DIST(5:8:0.25.0)
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BINOM.DIST j Qe False 9 ;gu e True LS\%-J _4_\5u °

Number s |5 ﬁ =5
- =3 ! 2
Trials & | = 8 . Lot ‘
_ — - Anlad nld
Probability_s 0.25 | = 0.25 L] vt g
Cumulative |g E&| = FALSE !

= 0.023071259
Returns the individual term binomial distribution probability.

Cumulative is a logical value: for the cumulative distribution function, use TRUE; for | |
the probability mass function, use FALSE,
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Formula result = 0.023071289
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the Poisson probability mass function, use FALSE.
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Function Arguments l ? &1
NORM.DIST
x -
Mean =
Standard_dev =
Cumulative =

Returns the normal distribution for the specified mean and standard deviation.

X is the value for which you want the distribution.

Formula result =

\
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